
Harpending Lecture 6
Quantitative Genetics 

















-4 -2 0 2 4

-4
-2

0
2

4



-4 -2 0 2 4

-4
-2

0
2

4



-4 -2 0 2 4

-4
-2

0
2

4



-4 -2 0 2 4

-4
-2

0
2

4



-4 -2 0 2 4

-4
-2

0
2

4



-4 -2 0 2 4

-4
-2

0
2

4





Breeder’s Equation

r=h2s

r = response to selection	


h2 = heritability	


s = selection differential



Scandinavia



England



English Homicide

• From 50 to 0.5 per 100,000 in 800 years	



• Equivalent to change of 1.3 sds under 
threshold model	



• Quantile (50/10000) = -2.6	



• Quantile (0.5/100000) = -3.9	



• 1.3 sds / 32 generations ~ .04 sds/generation	



• If violence h2 is 0.5, implied s ~ .08
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